
https://www.passapply.com/hpe6-a71.html
2024 Latest passapply HPE6-A71 PDF and VCE dumps Download

 

 

 

HPE6-A71Q&As

Aruba Certified Mobility Professional Exam

Pass HP HPE6-A71 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/hpe6-a71.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by HP Official
Exam Center

 

 

HPE6-A71 VCE Dumps | HPE6-A71 Study Guide | HPE6-A71 Exam Questions                                1 / 5

https://www.passapply.com/hpe6-a71.html
https://www.passapply.com/hpe6-a71.html
https://www.passapply.com/hpe6-a71.html


https://www.passapply.com/hpe6-a71.html
2024 Latest passapply HPE6-A71 PDF and VCE dumps Download

QUESTION 1

Refer to the exhibit. 

An administrator supports a RAP at a branch office shown in the exhibit. The company has one Mobility Controller (MC)
at the Primary DMZ site and one at the Secondary DMZ site. The RAP is configured to connect to only the MC at the
Primary DMZ site. A network outage with the ISP at the Primary DMZ site causes the RAP to reboot. Upon reboot, the
RAP cannot build a tunnel to the Secondary DMZ site MC because the administrator forgot to add the Second LMS IP
address to the AP Group configuration. Once the RAP can successfully connect, the administrator can add the
Secondary DMZ MC as a backup LMS to fix the AP Group. 

What should the administrator implement to allow the RAP to connect to the MC at the Secondary DMZ site while the
outage at the primary site persists? 

A. Dynamic discovery through DHCP Option 43 

B. Static configuration from apboot mode 

C. Dynamic discovery through DHCP Option 60 

D. Dynamic discovery through multicast ADP 

Correct Answer: B 

 

 

QUESTION 2
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A VIA client tries to initially connect to corporate office controller through an intermediate firewall. However, the VPN
connection fails. The administrator examines the firewall rules and determines that rules for UDP 4500 and UDP 500
are configured. 

Which additional protocol must be allowed in the firewall rules to resolve this connection failure? 

A. TCP 389 

B. UDP 4500 

C. UDP 8200 

D. TCP 993 

Correct Answer: B 

 

 

QUESTION 3

Refer to the exhibit. 

An administrator configures a cluster with only the members shown in the exhibit. AP load balancing is enabled. There
are no other cluster parameters configured. What occurs when a cluster member experiences a failure? 

A. High value sessions are synchronized. 

B. APs and clients are fully replicated. 

C. Connected users are de-authenticated 

D. APs reboot and rejoin the cluster. 

Correct Answer: C 
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QUESTION 4

Which two protocols does AirWave use to monitor Aruba Mobility Controllers ()? 

A. PAPI and AMON 

B. SNMP and AMON 

C. PAPI and GRE 

D. SNMP and SSH 

Correct Answer: B 

 

 

QUESTION 5

Refer to the exhibit. 

The branch office RAP shown in the exhibit provides secure wireless employee access. Because of security concerns,
the company\\'s security policy does not allow wireless guest access. Some customers that visit the Branch office need
Internet access. A RAP\\'s Ethernet Port 3 is used for wired guest access and Port2 is used for wired employee access.
When employees connect to Port2, they are authenticated successfully and split- tunnel policy allows them access to
both corporate and Internet resources from the Branch office. Guest users, however, cannot access Internet resources
on Port 3. 

How can the administrator provide guest users Internet access? 
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A. Implement ClientMatch to handle the employee and guest user traffic correctly. 

B. Implement the MultiZone feature on the RAP. 

C. Configure a bridge role for the wired RAP port. 

D. Create a guest VAP that allows wired RAP port access. 

Correct Answer: C 

https://www.arubanetworks.com/techdocs/ArubaOS%206_3_1_Web_Help/Content/ArubaF rameStyles/
Remote_AP/Bridge.htm 
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